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1 BIES 1kg 1 |®ES 1keg
2 |EEf 1kg 2 |EFfE Pl 394 1kg 2,700 1,944
3 KAahD 1kg 3 KA | #aFkil 211| 1ke 1,188 324
4 |xE =l 33| 1kg 486 4 |&F 1keg
5 &L Ei& 214| 1kg 3,132 486] 5 |HL kg
6 |LvbL 250 150] 1kg 324 281] 6 |LvbL 1kg
7 |F5H00| B 160| 1ke 1,318 680| 7 |FBHLIvH kg
SAE dbiEE 1,076 1kg 2,808 896| 8 |SAE kg
9 |ARY BIE- B 44| kg 3,132 2,052| 9 |&Y 1kg
10 |&ZL kg 10 |&ZL 1kg
1 A2 BRS 57| kg 1,026 864| 11 |mho& 1kg
12 |f=Ly == 362 1kg 1,404 918| 12 |f=Ly kg
13 |[FFL 1kg 13 [[FFH 1kg
14 |[hhiy Tke 14 |Ahis Tkg
15 |05 Tkg 15 |05 Tkg
16 | AN Tkg 16 | AN Tkg
17 |2Y 1kg 17 |2 U 1keg
18 | YLy Tkg 18 | YLy Tkg
19 |1=2 dbiEE 10|  1kg 3,240 19 |f=C kg
20 | Tkg 20 |vE Tkg
21 |HaY Z50 20| kg 2,160 1,350| 21 |HEY 1kg
22 | RAHWP 158 22 |\ XRHYP | KB 162| 158 7,560 1,080
23 | BEHP |BH-me 60 kg 2,484 23 | BEHP Tkg
24 | E ZH 155| 1kg 4,914 4,644| 24 |575F 1kg
25 |ISLFEF 1kg 25 |ISLFEF 1keg
26 |HFES 1kg 26 |HFES 1kg
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5| @B | B BEke| B | SfE | PE | RE || KB | B |BEKe | HEA| SiE PiE | RiE
1 |&aST Y7 -7Y 248| 1kg 2,592 1,836] 1 |{ESIT JYI—-7) 449| 1kg 1,566 972
2 |AhIz Y7 -hty 50| kg 6,998 4,752 2 [EE b4 123| 1kg 1,296 810
3 |AZU FR=p-207K L 375 1kg 4,860 896| 3 |iExAFE | dLiEE 122] 1kg 1,620 1,588
4 |ATFLbL |BR-FE 68| 1kg 1,156
5 [FAHL RI& 166| 1#% 335 130
6 [ bYDHA == 15| 1ke 2,700 2,646
1_|IhNEF Tkg




